Multiplication/Division des Sénaires (A)

Calculez chaque réponse.

4206 3516 2144|2
X 24 X 1bg
4222044|54¢ 2305 141524|2¢
X 45
4124 504 22034
_ X 3 _ X 406 _ X 35
2243324|35¢ 1304 23034345
X 33
105153441 2142 4345444]52
X 44

1214
X 44

4420504|55¢

10224
X 10g

3552045

23404
X blg
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Multiplication/Division des Sénaires (A) Réponses

4206
X 24

1532054

4222044|54¢
4354

4124
X 36
204206

22433235
3504

1051534|41¢
1353;

351
X 154

11025

23054
X 45

2011014

5044

X 40g

322404

130¢

X 33

5130¢

2142
X 44

1440124

Calculez chaque réponse.

2144|24
1054

14152|2
5054

22034
X 356

125553

230343456
3043¢

4345444|52¢
51154

1214
X 44

1023444

442050455
45104

10224
X 10g

102204

35520456
4440,

23404
X bBlg

2125404
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